4
1)

0.7

0.6}

Fake+pileup rate

0.4]

0.3]

0.2]

Fa

=

Ratio

o 1
©0.45 3
g
3 04 E 0.5
Rl
£0.35 3
< E 0.4
& 034
0.25 —; 0.3
023
0.15 3 -2
0.1 0.1
0.05 3 T
0120.25 0.3 0.35 0.4 0.45 0.5 0.55
Efficiency

0.150.20.250.3 0.350.4 0.450.5 0.550.6
Efficiency vs. cut on dz(PV.
—=— DQM_V0001_R000000001__Global__
—— DQM_V0001_R000000001__Global__
__CMSSW_LowptQnoclean__RECO
—— DQM_V0001_R000000001__Global__

CMSSW_ckfPUS0__RECO
CMSSW_mkFitPU50LowPtQuad__RECO

CMSSW_looseSC__RECO

Cut on dz(PV)



	Contents
	Page 1


